

Contract



- 1. THIS CONTRACT (hereinafter referred to as "Contract") is entered into this day of March, 2023 by and between the Village of Oak Park (hereinafter referred to as the "Village"), 123 Madison St., Oak Park, Illinois 60302 acting by and through its President and Board of Trustees and R.W. Dunteman Company, an Illinois company, with offices at 1900 S. Lombard Road, Addison, IL 60101, its executors, administrators, successors, or assigns (hereinafter referred to as the "Contractor") in an amount not to exceed \$1,074,500.
- 2. The following documents set forth the terms of this Contract and are incorporated herein:
 - The Village of Oak Park's Notice to Bidders, Special Provisions, and Plans for Project 22-8. Forest and Ontario Traffic Calming;
 - b. The Contractor's Proposal dated February 16, 2023; and
 - c. The Contract Bond.
- 3. Where the terms of the Contractor's Proposal conflict with the terms set forth in the Village's Notice to Bidders, Special Provisions, and Plans, the Village's Notice to Bidders, Special Provisions and Plans shall control. This Contract shall control to the extent of a conflict with any of the documents referenced in Section 2 above.
- 4. The Contractor shall at its own cost and expense perform all the work, and furnish all materials and all labor, necessary to complete the work in accordance with the terms of this Contract and the requirements of the Director of Public Works or the Director's designee.
- 5. This Contract is financed with federal Community Development Block Grant (CDBG) funds and thus is subject to all federal statutes, rules, regulations and guidelines. The Contractor shall comply with all Federal statutes, rules, regulations and guidelines, including the Davis Bacon Act and related acts and laws.
- 6. The Contractor affirms that the individual signing this Contract is authorized to execute this Contract on behalf of the Contractor.
- 7. All work for the Project shall be completed on or before October 24, 2023, unless additional time is granted in accordance with the specifications.

[REMAINDER OF PAGE INTENTIONALLY LEFT BLANK – SIGNATURE PAGE FOLLOWS]

IN WITNESS WHEREOF, the parties hereto have caused this Contract to be signed by their duly authorized representatives on the dates set forth below.

VILLAGE OF OAK PARK	R.W. DUNTEMAN COMPANY
By: Kevin J. Jackson Its: Village Manager	By: Roland W. Dunteman, III Its: President
Date: 7001 7 , 2023	Date: March 21 2023
Christia M. Wats	ATTEST
By: Christina M. Waters Its: Village Clerk	By: Christopher Cwiklinski Its: Assistant Secretary
Date: March 9 2023	Date:

<u>Proposal Cover</u> (Return with Bid – 1 page)



Project Name:	Forest and Ontario Traffic Calming
Project Number:	22-8
Location:	Village of Oak Park, Illinois
Submitted to the President	dent and Board of Trustees
By:	R.W. Dunteman Co.
	(Contractor's Name)
	000 C Loveboard Ed
	900 S Lombard Rd.
	(Address)
	Addison, IL, 60101

(City)

Notice to Bidders



Time and Place of Opening of Bids

The Village of Oak Park—Office of the Village Engineer, 201 South Boulevard, Oak Park, Illinois 60302—will receive electronic proposals until **Thursday, February 16, 2023, at 10:00 A.M.** Bids will be received and accepted, and bid results posted via electronic VirtuBid™ online bid service.

Description of Work

Name:

Forest and Ontario Traffic Calming

Location:

Ontario St and Forest Ave in Oak Park, IL

In general, the improvements consist of asphalt pavement milling and replacement, brick paver crosswalk removal and replacement, brick paver sidewalk removal and replacement, concrete sidewalk removal and replacement, concrete curb and gutter removal and replacement, signage, pavement marking, landscaping, light pole removal and replacement, conduit installation, installation of signed traffic control, and all appurtenant work thereto.

Bidders Instructions

- P.M., which can be found at https://www.oak-park.us/your-government/budget-purchasing/requests-proposals or at www.questcdn.com under login using QuestCDN number 8377519 for a non-refundable charge of \$64.00. Contractors must purchase bid documents and be shown on the Bidder's Planholder List in order to bid. Bids received from contractors who are not in the Bidder's Planholder List will be rejected. The Village of Oak Park reserves the right to issue plans and specifications to only those contractors deemed qualified. All prospective bidders must prove they are pre-qualified by the Illinois Department of Transportation by providing a certificate of eligibility to the Engineering Division at which time a password will be issued for access to the online bid documents. No plans will be issued to prospective bidders after 4:00 P.M. on the working day preceding the opening of bids. The electronic VirtuBid™ online bidding platform for this specific project will be opened approximately one week prior to the bid opening date.
- 2. At the bid opening, all proposals <u>must</u> be accompanied by a proposal guaranty in the amount of 5% of the bid amount. The proposal guaranty shall be in the form of a bid bond executed by a corporate surety company. If this proposal is accepted and the undersigned fails to execute an agreement and contract bond within ten (10) days after the Notice of Award, it is hereby agreed that the bid bond shall be forfeited to the Village.
- 3. The awarding authority reserves the right to waive technicalities and to reject any or all proposals as provided in Article 102.01 of the latest edition of the "Standard Specifications for Road and Bridge Construction," prepared by the Illinois Department of Transportation.
- 4. This project is financed with local Village funds and federal Community Development Block Grant (CDBG) funds and thus is subject to all federal rules, regulations and guidelines, including Davis-Bacon and Related Acts, Section 3, and Equal Opportunity requirements.
- 5. Federal Guidelines Items # A to be followed as written below.

- 6. Bidders need not return the entire proposal when bids are submitted. Portions of the proposal that must be returned include the following:
 - a. Proposal Cover (1 page)
 - b. Contract Proposal (1 page)
 - c. Contract Schedule of Prices to be completed on QuestCDN website
 - d. Proposal Bid Bond (1 page)
 - e. Contractor's Certifications (3 pages)
 - f. Fair Employment Practices Affidavit of Compliance (1 page)
 - g. Village of Oak Park E.E.O. Report (2 pages)
 - h. Schedule C: Letter of Intent From M/WBE to Perform (2 pages)
 - i. Schedule D: M/WBE Participation Affidavit (3 pages)

Note: Proposal Bid Bonds should be uploaded to the Qualification Information section of the online electronic biding system.

By Order of Bill McKenna, Village Engineer

Contract Proposal (Return with Bid – 1 page)



Proposal of R.W. Dunteman Co.

for <u>Project 22-8</u>, <u>Forest and Ontario Traffic Calming</u> as noted herein and the performance of all appurtenant work thereto.

- 1. The plans for the proposed work are those prepared by the Engineering Division of the Village of Oak Park, 201 South Boulevard, Oak Park, Illinois dated <u>January 26, 2023</u>.
- 2. The specifications referred to herein are those prepared by the Illinois Department of Transportation and designated as "Standard Specifications for Road and Bridge Construction" (latest edition) and the "Supplemental Specifications" (latest edition) thereto, the "Standard Specifications for Water and Sewer Construction in Illinois" (latest edition), and the "Manual for Uniform Traffic Control Devices" (latest edition), adopted and in effect on the date of invitation of bids.
- 3. The undersigned agrees to accept, as part of the contract, the applicable Special Provisions indicated on the "Check Sheet for Supplemental Specifications and Recurring Special Provisions" contained in this proposal.
- 4. The undersigned agrees to substantially complete all work by <u>October 24, 2023</u> unless additional time is granted in accordance with the specifications.
- 5. Accompanying this proposal is a bid bond on the Village Bond form, complying with the specifications, made payable to the Village of Oak Park.
- 6. If this proposal is accepted and the undersigned fails to execute a contract and contract bond as required, it is hereby agreed that the Bid Bond shall be forfeited to the awarding authority.
- 7. Each pay item should have a unit price and a total price.
- 8. The unit price shall govern if no total price is shown or if there is a discrepancy between the results of unit price multiplied by the quantity.
- 9. If a unit price is omitted, the total price will be divided by the quantity in order to establish a unit price.
- 10. A bid will be declared unacceptable if neither a unit price nor a total price is shown.
- 11. The undersigned firm certifies that it has not been convicted of bribery or attempting to bribe an officer or employee of the State of Illinois, nor has the firm made an admission of guilt of such conduct which is a matter of record, nor has an official, agent, or employee of the firm committed bribery or attempted bribery on behalf of the firm and pursuant to the direction or authorization of a responsible official of the firm. The undersigned firm further certifies that it is not barred from bidding on this contract as a result of a conviction for the violation of State laws prohibiting bid-rigging or bid-rotating.
- 12. This Contract is subject to "An act regulating wages of laborers, mechanics, and other workers employed in any public works by the State, County, City or any other public body or any political subdivision or by anyone under contract for public works" (see Special Provision for details). Davis-Bacon and related Acts require maintaining and submitting Certified Payroll records weekly for all entities working on this project.
- 13. The undersigned submits herewith the Contract Schedule of Prices covering the work to be performed under this contract.

Contractor's Certifications (Return with Bid – 3 pages)



- 1. The undersigned hereby certifies that said vendor is not barred from bidding on the aforementioned contract as a result of a violation of either Section 33E-3 or 33E-4 of Article 33E of Chapter 38 of the Illinois Revised Statutes or Section 2-6-12 of the Oak Park Village Code relating to "Bidding Requirements".
- 2. The individual or entity making the foregoing proposal or bid certifies that he/she is not barred from contracting with the Village of Oak Park because of any delinquency in the payment of any tax administrated by the Department of Revenue unless the individual or entity is contesting, in accordance with procedures established by the appropriate revenue act, liability for the tax or the amount of the tax. The individual or entity making the proposal or bid understands that making a false statement regarding delinquency in taxes is a Class A Misdemeanor and, in addition, voids the contract and allows the Municipality to recover all amounts paid to the individual or entity under the Contract in civil action.
- 3. The undersigned firm certifies that it has not been convicted of bribery or attempting to bribe an officer or employee of the State of Illinois and the Village of Oak Park, nor has the firm made an admission of guilt of such conduct which is a matter of record, nor has an official, agent, or employee of the firm committed bribery or attempted bribery on behalf of the firm and pursuant to the direction or authorization of a responsible official of the firm. The undersigned firm further certifies that it is not barred from bidding on this contract as a result of a conviction for the violation of State laws prohibiting bid-rigging or bid-rotating.
- 4. The undersigned firm certifies that it is in compliance with House Bill 3337 which creates a Drug Free Workplace Act for Illinois with an effective date of January 1, 1992.

By: Roland W. Dunteman, President (Name & Title of Authorized Agent)	(Seal – if Corporat	ion)
(Signature)		
R.W. Dunteman Co. (Company Name)		
900 S Lombard Rd, Addison, IL, 60101 (Address)		
R.W. Dunteman Co. (Telephone)		
NOTARY PUBLIC State of Illinois, County of		
Subscribed and sworn to before me this		
day of	February	A.D. 20 23
My commission expires 04-05-2026 (Signature & Seal)	OFFICIAL SEAL C J MONTALBANO NOTARY PUBLIC, STATE OF ILLINOIS DUPAGE COUNTY MY COMMISSION EXPIRES 04/05/2026	

Complete the applicable paragraph below. 1. Corporation The Vendor is a corporation, which operates under the legal name of R.W. Dunteman Co. and is organized and existing under the laws of the State of Illinois The full names of its Officers are: Roland W. Dunteman (President) Jay Landgraf (Secretary) Matthew Dunteman (Treasurer) The corporation does have a corporate seal. (In the event that their proposal is executed by a person other than the President, attach hereto a certified copy of that section of Corporate By-Laws or other authorization by the Corporation that permits the person to execute the offer for the corporation.) 2. Partnership Name, signature, and addresses of all partners: The partnership does business under the legal name of _____, which name is registered with the office of in the county of ______

3. Sole Proprietor The Vendor is a sole proprietor whose full nan	ne is
	If the Vendor is operating under a trade name, said trade name is
	, which name is registered with the office of
	In the county of
Signed:	

(Sole Proprietor)

Please provide the Name, Social Security Number (SSN), Driver's License Number (DLN), and State of Issuance (SOI) for Owner and /or Company Officers.								
Name	Title	SSN	DLN	SOI				
			1.00	+				
			AND THE PARTY OF T					
			1000					

Owner and/or Company Officer Information

Minority Business and Women Business Enterprise Requirements



The Village of Oak Park in an effort to reaffirm its policy of non-discrimination, encourages and applauds the efforts of contractors and subcontractors in taking affirmative action and providing Equal Employment Opportunity without regard to race, religion, creed, color, sex, national origin, age, handicap unrelated to ability to perform the job or protected veteran's status.

Reporting Requirements

The following forms must be completed in their entirety, notarized, and included as part of the bid proposal document. Failure to respond truthfully to any question on this list or failure to cooperate fully with further inquiry by the Village of Oak Park will result in disqualification of your bid.

- 1. Fair Employment Practices Affidavit of Compliance
- 2. Village of Oak Park E.E.O. Report

Disadvantaged Business Participation Reporting

In an effort to reaffirm its commitment to DBE participation the Village of Oak Park asks each general contractor bidding on Public Works Projects to report on their utilization of Minority and Women Business Enterprises. Please list the M/WBE companies working as subcontractors and/or suppliers on the DBE participation statement included herewith. Feel free to make additional copies of this form if necessary and include with your bid.

Fair Employment Practices Affidavit of Compliance

Oak Park

(Return with Bid - 1 page)

This affidavit must be executed and submitted with the signed proposal form. No proposals can be accepted by the Board of Trustees of the Village of Oak Park unless said affidavit is submitted concurrently with the proposal.

Roland W. Dunteman (Name of person making the affidavit)	_, being first duly sworn, deposes and says that he/she is the					
President	of R.W. Dunteman Co.					
(Title or Office)	(Name of Company)					
•	g affidavit; that he/she has the knowledge of the Village of Oak and understands the contents thereof; that he/she					
R.W. Dunteman Co. (Name of Company)	is an "Equal Opportunity Employer" as defined by					
Section 2000 (E) of Chapter 21, Title 42 of the United St #11375 which are incorporated herein by reference. (Signature of person making the affidavit)	ates Code Annotated and Federal Executive Orders #11246 and	i				
NOTARY PUBLIC						
State of Illinois, County of DuPage	_					
Subscribed and sworn to before me this						
day of	February A.D. 20 23					
My commission expires 04-05-2026 (Signature & Seal)	OFFICIAL SEAL C J MONTALBANO NOTARY PUBLIC, STATE OF ILLINOIS DUPAGE COUNTY MY COMMISSION EXPIRES 04/05/2026					



Vendor Name: R.W. DUNTERED CO.

E.E.O. Report (Return with Bid – 2 pages)

Please fill out the form completely. Failure to respond truthfully to any questions on the form, or failure to cooperate fully with further inquiry by the Village of Oak Park will result in disqualification of the proposal. An incomplete form will disqualify the proposal. For assistance in completing this form, contact Marilyn Sudkamp at (708) 358-5727.

Check here if the firm is:
MBE
WBE
DBE
Non-M/WBE
If your firm is a M/WBE, please complete the attached M/WBE participation affidavit and include copies of all certification letters.
What is the size of the firm's current stable work force?
105 Number of full-time employees
Number of part-time employees
Similar information will be requested of all subcontractors working on their contract. Forms will be furnished to the lowest responsible bidder or contractor with the notice of contract award, and these forms must be completed and submitted to the Village before the execution of the contract by the Village.

Vendor Name: K.W. Dunteman Co. Total Number of Employees: 105	Vendor Name:	R.W.	Dunteman	Co.	Total Number of Employees:	105	-
---	--------------	------	----------	-----	----------------------------	-----	---

					М	ales			Fer	nales		
Job Categories	Total Employees	Total Males	Total Females	Black	Hispanic	American Indian & Alaskan Native	Asian & Pacific Islander	Black	Hispanic	American Indian & Alaskan Native	Asian & Pacific Islander	Total Minorities
Officials & Managers		SEE	Attach	ed								
Professionals												
Technicians												
Sales Workers												
Office & Clerical												
Semi-Skilled												
Laborers												
Service Workers												
Total												
Management Trainees												
Apprentices										<u> </u>		

This completed and notarized report must accompany your bid. It should be attached to your Affidavit of Compliance. Failure to include it with your bid will disqualify you from consideration. An EEO-1 Report may be submitted in lieu of this report.

NOTARY PUBLIC State of Illinois, County of Du Page	_			
Michael Healy (Name of person making the affidavit)	_, being first duly sworn, deposes a	nd says that he/she is the _	Chief Estir (Title or Office)	nator
of R.W. Dunteman Co. (Name of Company)	_ and that the above E.E.O. Report i	information is true and accu	rate and is submitted	d with the intent that
it be relied upon. Subscribed and sworn to before me t	his	day ofFebr	wasy	A.D. 20 <u>23</u>
My commission expires <u>66, 16, 24</u> (Signature & Seal)				
Official Seai Mike Kyros Notary Public State of My Commission Expires	f Illinois 06/16/2024			3

PR Department of Labor EEO-1 Report

		- ,	Co	mpany:	1 R.W.	Dunt	eman Co). ≡		Ę.	··· 22	<u> </u>	i =		
		Number of Employees (Report employees in only one category)													
		-					Rac	e/Ethnic	city						
Job Categories		anic or						Hispan	ic or Lat	ino]
	La	atino				Male	2				Fema	_			1
	Male	Female	White	Black or African American	Native Hawaiian or Other Pacific Islander	Asian	American Indian or Alaska Native	Two or more races	White	Black or African American	Native Hawaiian or Other Pacific Islander	Asian	American Indian or Alaska Native	Two or more races	Total Col A - N
	Α	В	С	D	E	F	G	Н	ı	J	К	L	M	N	0
1 Executive/Senior Level Officials and Managers	0	0	12	0	0	0	1	0	0	0	0	0	0	0	13
2 First/Mid-Level Officials and Managers	2	1	4	0	0	1	0	0	5	0	0	0	0	0	13
3 Professionals	0	0	2	0	0	1	0	0	1	0	0	0	0	0	4
4 Technicians	49	0	24	0	0	Đ	0	1	6	2	0	0	0	0	82
5 Sales Workers	4	0	16	1	Ð	0	1	2	0	0	0	0	0	0	24
6 Administrative Support Workers	6	0	9	0	0	0	1	0	1	0	0	0	0	0	17
7 Craft Workers	9	1	2	0	0	0	0	0	0	0	0	0	0	0	12
8 Operatives	0	0	2	0	0	0	0	0	0	0	0	0	0	0	2
Total	70	2	71	1	0	2	3	3	13	2	0	0	0	0	167
Previous Year Total	100	5	101	4	0	3	4	4	14	1	0	0	0	0	236

Forest and Ontario Traffic Calming (#8377519)

Owner: Oak Park IL, Village of Solicitor: Oak Park IL, Village of 02/16/2023 10:00 AM CST

Total \$1,074,500.00

,,					R.W. D	unteman
Line Item	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
1	25200100	SODDING, PARKWAY RESTORATION	SQ YD	434	\$10.00	\$4,340.00
2	56500800	DOMESTIC WATER SERVICE BOXES TO BE ADJUSTED	EACH	1	\$850.00	\$850.00
3	60300305	FRAMES AND LIDS TO BE ADJUSTED	EACH	11	\$712.00	\$7,832.00
4	20200100	EARTH EXCAVATION	CU YD	18	\$120.00	\$2,160.00
5	21101505	TOPSOIL EXCAVATION AND PLACEMENT	CU YD	55	\$90.00	\$4,950.00
6		TOPSOIL FURNISH AND PLACE, 4"	SQ YD	481	\$6.00	\$2,886.00
7	28000510	INLET FILTERS	EACH	13	\$336.00	\$4,368.00
8	31101100	SUBBASE GRANULAR MATERIAL, TYPE B	CU YD	3	\$190.00	\$570.00
9	35101500	AGGREGATE BASE COURSE, TYPE B	CU YD	20	\$150.00	\$3,000.00
10	35300100	PORTLAND CEMENT CONCRETE BASE COURSE 6"	SQ YD	5	\$250.00	\$1,250.00
11	35300300	PORTLAND CEMENT CONCRETE BASE COURSE 8"	SQ YD	102	\$123.00	\$12,546.00
12	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	4019	\$0.75	\$3,014.25
13	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	211	\$132.00	\$27,852.00
14	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	422	\$132.00	\$55,704.00
15	42000200	PORTLAND CEMENT CONCRETE PAVEMENT 7"	SQ YD	12	\$190.00	\$2,280.00
16	42000400	PORTLAND CEMENT CONCRETE PAVEMENT 9"	SQ YD	42	\$190.00	\$7,980.00
17	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	SQ FT	1278	\$11.00	\$14,058.00
18	42400400	PORTLAND CEMENT CONCRETE SIDEWALK 7 INCH	SQ FT	175	\$18.00	\$3,150.00
19	44000100	PAVEMENT REMOVAL	SQ YD	296	\$24.00	\$7,104.00
20	44000161	HOT-MIX ASPHALT SURFACE REMOVAL, 3"	SQ YD	3636	\$6.00	\$21,816.00
21		CURB REMOVAL	FOOT	60	\$22.00	\$1,320.00
22	44000600	SIDEWALK REMOVAL	SQ FT	1366	\$4.30	\$5,873.80
23	60600605	CONCRETE CURB, TYPE B	FOOT	12	\$100.00	\$1,200.00
		COMBINATION CONCRETE CURB AND GUTTER, TYPE 8-6.12 (ABUTTING				
24	60603900	EXISTING PAVEMENT)	FOOT	656	\$75.00	\$49,200.00
25	67100100	MOBILIZATION	L SUM	1		\$59,803.30
26	72000100	SIGN PANEL - TYPE 1	SQ FT	28	\$45.00	\$1,260.00
27	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	EACH	2	\$100.00	\$200.00
28		REMOVE SIGN PANEL - TYPE 1	SQ FT	9	\$15.00	\$135.00
29		TELESCOPING STEEL SIGN SUPPORT (SPECIAL)	FOOT	18	\$20.00	\$360.00
30		THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	1603	\$1.35	\$2,164.05
31		THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	76	\$1.85	\$140.60
32	-	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	118	\$7.25	\$855.50
33		PAINT PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	48	\$9.00	\$432.00
34		ELECTRIC SERVICE INSTALLATION	EACH	1	\$3,620.00	\$3,620.00
35		UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	FOOT	50	\$35.50	\$1,775.00
36		UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	FOOT	570	\$54.30	\$30,951.00
37		UNDERGROUND CONDUIT, PVC, 1" DIA.	FOOT	40	\$8.60	\$344.00
38		HANDHOLE	EACH	1	\$2,105.00	\$2,105.00
		UNIT DUCT, 600V, 2-1C NO.8, 1/C NO.8 GROUND, (XLP-TYPE USE), 3/4"	-71011		72,200.00	72,200.00
39	81603000	DIA. POLYETHYLENE	FOOT	40	\$20.30	\$812.00
		UNIT DUCT, 600V, 2-1C NO.6, 1/C NO.6 GROUND, (XLP-TYPE USE), 1 1/4"		70	\$20.30	7012.00
40	81603037	DIA. POLYETHYLENE	FOOT	1300	\$20.80	\$27,040.00
	01003037	UNIT DUCT, 600V, 4-1C NO.8, 1/C NO.8 GROUND, (XLP-TYPE USE), 1 1/4"	1,001	1300	720.00	327,U4U.UU
41	81603005	DIA. POLYETHYLENE	FOOT	15	\$22.40	\$336.00
	01003030	UNIT DUCT, 600V, 4-1C NO.6, 1/C NO.6 GROUND, (XLP-TYPE USE), 1 1/4"	1,001	13	322.40	2330.00
42	91603100	DIA. POLYETHYLENE	FOOT	1100	622.70	677.000.00
42	91003100	DIA. I OCIETITICANE	FOOT	1180	\$23.70	\$27,966.00

Forest and Ontario Traffic Calming (#8377519)

Owner: Oak Park IL, Village of Solicitor: Oak Park IL, Village of 02/16/2023 10:00 AM CST

02/16/2023 10:00 AM CST R.W. Dunteman Line Item Code UofM Quantity **Unit Price** Item Description Extension Item UNIT DUCT, 600V, 6-1C NO.6, 1/C NO.8 GROUND, (XLP-TYPE USE), 1 1/2" 43 81603598 DIA. POLYETHYLENE FOOT 160 \$27.00 \$4,320.00 81702110 ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 10 FOOT 80 \$7.10 \$568.00 45 81702120 ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 8 FOOT \$7.40 340 \$2,516.00 81702400 ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 3-1/C NO. 2 46 FOOT 50 \$14.80 \$740.00 47 82500350 LIGHTING CONTROLLER, BASE MOUNTED, 240VOLT, 100AMP **EACH** 1 \$16,317.00 \$16,317.00 48 83600200 LIGHT POLE FOUNDATION, 24" DIAMETER FOOT 18 \$570.00 \$10,260.00 49 84200500 REMOVAL OF LIGHTING UNIT, SALVAGE **EACH** 12 \$780.00 \$9,360.00 50 84200804 REMOVAL OF POLE FOUNDATION **EACH** 1 \$1.040.00 \$1.040.00 51 K0012990 PERENNIAL PLANTS, ORNAMENTAL TYPE, GALLON POT UNIT 6.8 \$1,800.00 \$12,240.00 GATEWAY MONUMENT SIGN COMPLETE 52 X0320060 EACH 4 \$12,500.00 \$50,000.00 53 X0327814 PLANTING SOIL MIX FURNISH AND PLACE, 24" SQ YD 19 \$100.00 \$1,900.00 54 X0327989 REMOVE EXISTING BRICK PAVERS SQ FT 2463 \$4.50 \$11,083.50 55 X4240800 DETECTABLE WARNINGS (SPECIAL) SQ FT 214 \$54.00 \$11,556.00 56 X4400500 CURB AND GUTTER REMOVAL (SPECIAL) 581 FOOT \$14.00 \$8,134.00 FRAMES AND LIDS TO BE ADJUSTED (SPECIAL) 57 X6030310 **EACH** \$1,467.00 \$8,802.00 58 X7240600 REMOVE AND RE-ERECT EXISTING SIGN **EACH** 64 \$125.00 \$8,000.00 59 Z0013798 CONSTRUCTION LAYOUT (SPECIAL) L SUM \$20,000.00 \$20,000.00 60 VOP0001 SHREDDED HARDWOOD BARK MULCH SQ YD 84 \$25.00 \$2,100.00 61 VOP0002 TREE PROTECTION **EACH** 23 \$150.00 \$3,450.00 62 VOP0003 LED ROADWAY HEAD REPLACEMENT EACH 2 \$923.00 \$1,846.00 63 VOP0004 PEDESTRAIN ST LIGHT (F1 TYPE) **EACH** 15 l \$8,217.00 \$123,255.00 64 VOP0005 ORNAMENTAL LIGHT UNIT, COMPLETE (F3 TYPE) **EACH** 1 \$17,406.00 \$17,406.00 65 VOP0006 ORNAMENTAL LED LOW VOLTAGE, COMPLETE **EACH** 4 \$9,587.00 \$38,348.00 66 VOP0007 PEDESTRAIN ST LIGHT WITH OUTLET (F1A TYPE) **EACH** 4 \$8,447.00 \$33,788.00 67 VOP0008 GLOBE PEDESTRAIN ST LIGHT WITH OUTLET (F5 TYPE) EACH \$9,316.00 \$9,316.00 68 VOP0009 RECTANGULAR RAPID FLASHING BEACON ASSEMBLY (COMPLETE) **EACH** 2 \$8,583.00 \$17,166.00 69 VOP0010 RESET AND REPAIR LIMESTONE RETAINING WALL LN FT 40 \$520.00 \$20,800.00 70 VOP0011 PEDESTRIAN PAVERS SQ FT 731 \$35.00 \$25,585.00 71 VOP0012 VEHICULAR BRICK PAVERS 1322 SQ FT \$62.00 \$81,964.00 72 VOP0013 CONCRETE CURB PAVER EDGE (SPECIAL) **FOOT** 350 \$76.00 \$26,600.00 73 VOP0014 COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (SPECIAL) FOOT 54 \$190.00 \$10,260.00 74 VOP0015 REMOVE AND REPLACE BLUE-STONE PAVERS SQ FT 127 \$88,00 \$11,176.00 75 VOP0016 1 \$15,000.00 TRAFFIC CONTROL AND PROTECTION, SPECIAL L SUM \$15,000.00 76 VOP0017 REMOVE AND RESET GRANITE PAVERS SQ FT 40l \$100.00 \$4,000.00 77 VOP0018 CONTINGENCY CASH ALLOWANCE L SUM 1 \$50,000.00 \$50,000.00 Total \$1,074,500.00

\$1,074,500.00

Total

Oak Park

Proposal Bid Bond

(Return with Bid = 1 page)

WE R. W. Dunleman Company	as PRINCIPAL,
and Continental Casualty Company, 151 N. Franklin Street, Chica	ago, IL 60606 as SURETY, are
or for the amount specified in Article 102.09 of the "Standard Sp	referred to as "VOP") in the penal sum of 5% of the total bid price, pecifications for Road and Bridge Construction" in effect on the date dministrators, successors, and assigns, jointly to pay to the VOP this
WHEREAS THE CONDITION OF THE FOREGOING OBLIGATION IS S VOP acting through its awarding authority for the construction o	SUCH that, the said PRINCIPAL is submitting a written proposal to the of the work designated as the above section.
PRINCIPAL shall within fifteen (15) days after award enter into a performance of the work, and furnish evidence of the required in	the PRINCIPAL by the VOP for the above-designated section and the formal contract, furnish surety guaranteeing the faithful insurance coverage, all as provided in the "Standard Specifications Specifications, then this obligation shall become void; otherwise it
	enter into a formal contract in compliance with any requirements set ts awarding authority shall immediately be entitled to recover the torney fees, and any other expense of recovery.
IN TESTIMONY WHEREOF, the said PRINCIPAL and the said SURE officers this	
16th day of	February A.D. 2023
R. W. Duntemen Company	
By: (Company Name)	(Company Name) By:
Signature & Title) Jeffrey Dunteman, VP Operations	(Signature & Title) by names, and authorized signatures of each contractor must be affixed.)
Continental Casualty Company	Whe Therese CASU
(Name of Surety) NOTARY PUBLIC	(Signature of Attorney-in-Fact) William Reidinger
tate of Illinois, County of DuPage	NO •
Rebecca R. Alves a	Notary Public in and for said county, do hereby certify SEAL
hat Jenrey Dunteman and William Reidinger	
(Names of individuals signing on behalf of PRINCIPAL ar	
	whose names are subscribed to the foregoing instrument on behalf o
KINCIPAL and SURETY, appeared before me this day in person a	and acknowledged respectively, that they signed and delivered said
nstrument as their free and voluntary act for the uses and purp	oses therein set forth.
iven under my hand and notary seal this	
·	February A.D. 2023
Ny commission expires 6/29/2024	S OFFICIAL SEAL S
Kobecea & Celiver	REBECCA R ALVES NOTARY PUBLIC - STATE OF ILLINOIS
(Signature & Seal) Rebecca R. Alves	MY COMMISSION EXPIRES:06/29/24
lotice:	Consession of the contract of
 Improper execution of this form (i.e., missing signatures or se If bid bond is used in lieu of proposal guaranty check, it must 	eals, or incomplete certification) will result in bid being declared irregular. be on this form and must be submitted with bid.

POWER OF ATTORNEY APPOINTING INDIVIDUAL ATTORNEY-IN-FACT

Know All Men By These Presents, That Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of flartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company (herein called "the CNA Companies"), are duly organized and existing insurance companies having their principal offices in the City of Chicago, and State of Illinois, and that they do by virtue of the signatures and seals herein affixed hereby make, constitute and appoint

William Reidinger, Individually

of Schaumburg, IL , their true and lawful Attorney(s)-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on their behalf bonds, undertakings and other obligatory instruments of similar nature

- In Unlimited Amounts -

Surety Bond No.: Bid Bond

Principal: R. W. Dunteman Company Obligee: VILLAGE OF OAK PARK

and to bind them thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of their insurance companies and all the acts of said Attorney, pursuant to the authority hereby given is hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law and Resolutions, printed on the reverse hereof, duly adopted, as indicated, by the Boards of Directors of the insurance companies.

In Witness Whereof, the CNA Companies have caused these presents to be signed by their Vice President and their corporate seals to be hereto affixed on this 16th day of June, 2021.







Continental Casualty Company National Fire Insurance Company of Hartford American Casualty Company of Reading, Pennsylvania

Paul T. Bruflat

State of South Dakota, County of Minnehaha, ss:

On this 16th day of June, 2021, before me personally came Paul T. Bruflat to me known, who, being by me duly swom, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is a Vice President of Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company described in and which executed the above instrument; that he knows the seals of said insurance companies; that the seals affixed to the said instrument are such corporate seals; that they were so affixed pursuant to authority given by the Boards of Directors of said insurance companies and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said insurance companies.



My Commission Expires March 2, 2026

M Bent

CERTIFICATE

1, D. Johnson, Assistant Secretary of Continental Casualty Company, an Illinois insurance company, National Fire Insurance Company of Hartford, an Illinois insurance company, and American Casualty Company of Reading, Pennsylvania, a Pennsylvania insurance company do hereby certify that the Power of Attorney herein above set forth is still in force, and further certify that the By-Law and Resolution of the Board of Directors of the insurance companies printed on the reverse hereof is still in force. In testimony whereof I have hereunto subscribed my name and affixed the seaf of the said insurance companies this 16th day of February, 2023.







Continental Casualty Company National Fire Insurance Company of Hartford American Casualty Company of Reading, Pennsylvania

D. Johnson

Assistant Secretary

Form F6853-4/2012

Go to www.cnasurety.com > Owner / Obligee Services > Validate Bond Coverage, if you want to verify bond authenticity.

Authorizing By-Laws and Resolutions

ADOPTED BY THE BOARD OF DIRECTORS OF CONTINENTAL CASUALTY COMPANY

This Power of Attorney is made and executed pursuant to and by authority of the following resolution duly adopted by the Board of Directors of the Company at a meeting held on May 12, 1995:

"RESOLVED: That any Senior or Group Vice President may authorize an officer to sign specific documents, agreements and instruments on behalf of the Company provided that the name of such authorized officer and a description of the documents, agreements or instruments that such officer may sign will be provided in writing by the Senior or Group Vice President to the Secretary of the Company prior to such execution becoming effective."

This Power of Attorney is signed by Paul T. Bruffat, Vice President, who has been authorized pursuant to the above resolution to execute power of attorneys on behalf of Continental Casualty Company.

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company by manimous written consent dated the 25th day of April, 2012:

"Whereas, the hylaws of the Company or specific resolution of the Board of Directors has authorized various officers (the "Authorized Officers") to execute various policies, bonds, undertakings and other obligatory instruments of like nature; and

Whereas, from time to time, the signature of the Authorized Officers, in addition to being provided in original, hard copy format, may be provided via facsimile or otherwise in an electronic format (collectively, "Electronic Signatures"); Now therefore be it resolved; that the Electronic Signature of any Authorized Officer shall be valid and binding on the Company."

ADOPTED BY THE BOARD OF DIRECTORS OF NATIONAL FIRE INSURANCE COMPANY OF BARTFORD:

This Power of Attorney is made and executed pursuant to and by authority of the following resolution duly adopted by the Board of Directors of the Company by manimous written consent dated May 10, 1995:

"RESOLVED: That any Senior or Group Vice President may authorize an officer to sign specific documents, agreements and instruments on behalf of the Company provided that the name of such authorized officer and a description of the documents, agreements or instruments that such officer may sign will be provided in writing by the Senior or Group Vice President to the Secretary of the Company prior to such execution becoming effective."

This Power of Attorney is signed by Paul T. Bruflat, Vice President, who has been authorized pursuant to the above resolution to execute power of attorneys on behalf of National Fire Insurance Company of Hartford.

This Power of Attorney is signed and scaled by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company by unanimous written consent dated the 25th day of April, 2012;

"Whereas, the bylaws of the Company or specific resolution of the Hoard of Directors has authorized various officers (the "Authorized Officers") to execute various policies, bonds, undertakings and other obligatory instruments of like nature; and

Whereas, from time to time, the signature of the Authorized Officers, in addition to being provided in original, hard copy format, may be provided via facsimile or otherwise in an electronic format (collectively, "Electronic Signatures"); Now therefore be it resolved: that the Electronic Signature of any Authorized Officer shall be valid and binding on the Company."

ADOPTED BY THE BOARD OF DIRECTORS OF AMERICAN CASUALTY COMPANY OF READING, PENNSYLVANIA:

This Power of Attorney is made and executed pursuant to and by authority of the following resolution duly adopted by the Board of Directors of the Company by unanimous written consent dated May 10, 1995:

"RESOLVFD: That any Senior or Group Vice President may authorize an officer to sign specific documents, agreements and instruments on behalf of the Company provided that the name of such authorized officer and a description of the documents, agreements or instruments that such officer may sign will be provided in writing by the Senior or Group Vice President to the Secretary of the Company prior to such execution becoming effective."

This Power of Attorney is signed by Paul T. Bruflat, Vice President, who has been authorized pursuant to the above resolution to execute power of attorneys on behalf of American Casualty Company of Reading, Pennsylvania.

This Power of Attorney is signed and scaled by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of the Company by unanimous written consent dated the 25th day of April, 2012:

"Whereas, the bylaws of the Company or specific resolution of the Board of Directors has authorized various officers (the "Authorized Officers") to execute various policies, bonds, undertakings and other obligatory instruments of like nature; and

Whereas, from time to time, the signature of the Authorized Officers, in addition to being provided in original, hard copy format, may be provided via facsimile or otherwise in an electronic format (collectively, "Electronic Signatures"); Now therefore be it resolved: that the Electronic Signature of any Authorized Officer shall be valid and binding on the Company."